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ص�א�����ن�: (***)  

�
��  M0 ، M1 ، M2 ، M3 ، M4 ، M5 ��ا�� ��� ������ ���
أ-,�ء  . M0 �() M5م�'&� م% و#" م
�ر م
 /0�
)#> ا��,)6 و ا�'&/ و ا�;���/ ( ��:  -∆vا�)�آ/ �7�6 �45ع ت1�� ا�

  : اس�,�= -1
  . BC�DE ا���ة ا��A-�ة #> ا�'
� -أ

7�4/ ا�)�آ/ ���0 أن -بH v∆ /ا�)�آ /&� IJ( K� .  
2- /�0.1 =  �
��1ق ا�'
� ا�IJ) ��D ا��Mة ا�Lم, sτ ت�#�
�;� آQ م
�#/ م% ا��� M0M1 ، M1M2       ، 

M2M3  ، M3M4 ، M4M5.    
- /���0��7ر مM7أ اUزم,/ �)R/ م�ور ا���)�ك  . v = 5 t + 0.5:  ت4;6 س�0/ ا�'
� M,0 آR(� Q/ ����74رة ا����

 �������M0.   
  . 6�0 ا���ت�� M0، M1 ، M2 ، M3 ، M4 ، M5 #> ا���ا�� v0  ، v1 ، v2 ، v3 ، v4 ، v5 اس�,�= ا�
��0ت -أ

 �)�آ/ هYا ا�'
� و ا��> M0 ، M1 ،  ...... ،M5  مQX اUو��ع ا�������/ M0M1 = 0.75 cm إذا ��0: أن -ب
�0�&� �������D ا���YE[� �\�4 ا�
�� ا����>  QD(�) :1 cm → 0.1 m.   
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Sujet : 2AS 02 - 01 

  

  :BC�DE ا���ة  -أ -1

#> ا��,)6 و ا�'&/            ( �0/ ، و ح�` أن �45ع ت1�� ا�
�BC�DE :��- /0 ا���ة م;���/ �_�اص �45ع ت1�� ا�

  ) .#> ا��,)6 و ا�'&/ و ا�;���/( أ-,�ء هcY ا�)�آ/ ، ت�dن ا���ة #> هcY ا�)�آ/ أ��b -���/ ) و ا�;���/ 
7�4/ ا�)�آ/ -بH :  

 /0�
��/ م�
�ر0/  -��: #> ا��,)6 و ا�'&/∆���v أن �45ع ت1�� ا���
 و �&�K ه> �&/ ا�)�آ/ ، #��)�آ/ م
  .��(��Rم 

�� ا�
��0ت /أ-2\ :  
  :��0���د 6�0 م�4د�/ ا�
�QD() /0 6�0 ا�,��C= ا��Mو(/ #> ا�'Mول ا����> 

  
 M0 M1 M2 M3 M4 M5 

t (s) 0 0.1 0.2 0.3 0.4 0.5 
v (m/s) 0.5 1.0 1.5 2.0 2.5 3.0 

 
 : ا�����D ا����4\� -ب

             vτ2 = d  →  
τ2

d
 = v  

d1 = v1 . 2τ = 1.0 . 2 . 0.1 =  0.2 m  →  M0M2 = 2 cm 
 
d2 = v2 . 2τ = 1.5 . 2 . 0.1 =  0.3 m  →  M1M3 = 3 cm 
d3 = v3 . 2τ = 2.0 . 2 . 0.1 =  0.4 m  →  M2M4 = 4 cm 
d4 = v2 . 2τ = 2.5 . 2 . 0.1 =  0.5 m  →  M3M5 = 5 cm 

  
  
  
  
  
  
  
  
  

  

0M 1M 2M 3M 4M 5M

1 cm  →  0.1 m 


